e

K 14

LLLLLLLLLLLLLLL
LLLLLLLLLLLLLLL
LLLLLLLLLLLLLLL

LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL
LLL

ety ot g = 5t et
St ot g e
e 2 ot P
B et e e Sef e o B e e B o S £ o] ) 6 g g S
Ot Bt g P B B S Bd D) B G g B B o] Bt Ot £} ey B By
ey P R ) e S B 5 G P P T P S Do) et B Bt g Py
g ot e g g oy
oy e g g e
g ot ot o b o

———
I
e b b
———
Bm e
———
b b e b b b b e B b e b B b B e e b b b
e e o e e S e e ol e oy Sy ey anya—
L e e e S e e St oy Sy Gy i S




**FILE++]D*+DCLDIET

- | a
o> ‘e
L I L] .
L L L L]
- .
L L L L ]
——
——
——
——
ol ad d ol d ol o Sl o d ol d o
——— = = — = = = = = = —
——
——
——
| od
ww ww
[VE]VE] ww
[V IVE] wus ww
ww wug ww
wiws wul wiwg
ww ww ww
wiw wu ww
ww ww wu
Wwwwuwuwuwwiuwwwwww
A L L W L) W W W W W W W W
0
() et et e s
et g 5t oy
D L e R e e I
ot =g =—q — — g g —
! s
—— — g
[aYaYaYaYaYaYaYaYaYal
oocooocoooono
ao [=Y~]
[=Y=Y aa
Qo aa
oo oo
(=Y~ [~Y=Y
[=Y=Y [=Y=Y
[ Y=Y~ Y=Y~Y=Y=Y=Y~Y~Y~-Y~Y~Y=)
oocoocoocococooooono
- ol (%1%} wuvmuwvm
- wwm [P X7 L7 17, ]
-l d wwm (%1% ] wwv
e [T 1% ] wvuv wvuv
-l wwv wwv (%1% ]
-l d wwv wwvm 1%, ]
— —d wwvm wuv 1% ]
| wwvm wviuvm wv
— e e e e e ) e e ) D D D D wvuvmwmwm wwv
A D DD I DD DA DD DD VIVInWV wuv
(& L& (S X&)
[ &) Lo
L& L= (=L — oy —y —y
(&= L8 WD o g ey
(& LS [ LS Ll l L e e e e e e e e ]
e (S 18 e e L el R e A TR}
(WS LS (SN — — —
[ L8] (W] — g —
LOUOLUOULLLOLLY
VO LOOLOOLOOLOLOOW
(alaYaYaYaYaYaYaYaYa) -
oooocoooooo -t d
[aY=] oo .
(=Y~ (= Y= —d d
[aY=] [=Y~) - d
(=Y~ [=Y=] -
l=Y~] [=Y=] -
WWDDDDDDDDODWW -
- e e e e ) e e d ) d ) ) D
oocoocoocoocoocoooo [ U= DU D [N U [ D U U - |




NS AN = O 000 NON NS N = O O 00 N O N BN AN = O 0 00 O B LN =2 O N0 00 ~J O WSS LN =2 O 0 00 ~J O VLSS N —

AT AT AT E PR TR TR P L T PR L PR L L L R L A A A A R R R s I T MM MM MMM MM MM T ™I ™™ .

AVAVAVAVAVAVAWA SN S5 85 55 05 85 0 85 8 B WA A N T W NN N AN NI AN NI NI RO NINI N =2 b b b b o d d d

DCLDIET = Put a DCL Procedure on a Diet 1%:529-1352 ?;532558 ¥ax-1 Bliss=32 v4.0-7 .

4
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Xtitle 'DCLDIET = Pyt a DC% Procedure on a Diet'
- MODULE dcldiet (main=dcldiet$main, ident = 'V04-000') =
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i* COPYRIGHT (¢) 1978, 1980, 1982, 1984 BY

i DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.

{+ ALL RIGHTS RESERVED.

i* THIS SOFTWARE IS FURNISHED UNDER A LICENSE #
i+ ONLY IN ACCORDANCE WITH THE TERMS OF C
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Facility: DCLDIET, Put a DCL Procedure on a Diet

Abstract: The purpose of this program is to reduce the size of a DCL
command procedure. This is done frincipally b{ removing
all comments. We also eliminate Lines that only contain a
dollar sign, and reduce all whitespace to a single blank,

OO0 NOMN S AN = OO 00 N O NS AN = OO0 00

(===l =l=

By shipping command procedures in this reduced format, we
save space and speed them up.

Restrictions: The following restrictions must be obeyed in order that this
program produce a correct command procedure.

1. Quoted strings must have closing quotation marks.

elelelelelelelelelelelels

2. Continuation h{pons an? comment exclamation points may
not be lexically substituted into or out of a Line.

F ol o F O o O o o W W W [V v v [ V]
NOWVS AN = OV NON IS N —

KRR

3. The DECK and EOD commands may not be abbreviated.
Environment: Native, User mode.
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Author: Paul C. Anagnostopoulos, Creation Date: 7 September 1982
Revision History:

v03-001 DAS0001 David Solomon ; 30-Apr-1984
Fix two accvios resulting from reading zero-length records.
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60 § 6 1 Library 'sys$Slibrary:starlet’;




SRGR2838

R TR TR A A R TR TR T P P T P T T L L L T e R T R I LR e LR L R I I I I I ™™ ™™ (I TETELETE TR T

B S e I e I e e e e g e )
O~NO WV WN OO0

F 6
1 DCLDIET = Pu DCL Procedure on a Diet 16=Sep=-1984 :18: AX=11 Bliss=32 v4.0-74 P
Module Definitjons Y 19-3202108¢ 98:38:35  MOTL R iesodtoYei%ats?, 9

Isbttl 'Module Definitions'

1
1
8 ? } ; Macro Definitions:
065 1 | The following definitions are used to create extensions to the Bliss
066 1 ! Language. This makes writing programs easier, and hopefully also
828 } ! facilitates reading them.
8 8 } ! We begin with the definition of a boolean data type.
M 0071 1 macro boolean =
M 87 1 byte
007 1 ¥
075 1 Lliteral
076 1 false =0,
08;a } true =1;
079 1 ! Let's define symbolic names for various control characters that we use
883? } ! a lot.
008; 1 Lliteral
883‘ } HT = ¥x'09';
00B5 1 ! Now let's define a descriptor data type. This allows us to declare
8889 } ! variables, particularly parameters, as descriptors.
OOgB 1 field descriptor_fields = set
089 1 len = [dscSw_Llengthl,
090 1 t{p = [dscSb_dtype],
0091 1 cls = [dscSb_class),
0092 1 ptr = [dscSa_pointer]
0094 1 .
M 0095 1 macro descriptor =
M 8836 } block(8,byte] field(descriptor_fields)
0098 1
0099 1 ! Now we need some macros to better deal with strings. We will begin with
8}8? } ! three that can be used to generate string constants.
M 010§ 1 macro text(string) =
Ll 0}0‘ } uplit byte(string)
M §185 R ctext(string) =
M }89 } uplit byte(Xascic string)
M 188 1 dtext(string) =
M 0109 1 Xascid string
e
11§ 1 ! Now we will define a macro that generates a buffer with accom an¥ing
113 1 ! descriptor. The user can specify the name and Length of the buffer,
}}g } ! This macro can appear in global or own declarations.
M 11? 1 macro dbuffer(name Ean?th) = -
M 0117 1 name: block(8+ ength,byte] field(descriptor_fields) preset(
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v84-680 Module Definitions 1 -503-133& ?i:}g:ga !UTIL 2.SRCIDCLDIET.B32;1 . (2)
3 13 MON len = length,

MmON t{p =0,

M cls =0,

™ =

M )

! We also want a macro which helps us fill in a descriptor dynamicall{.
! It lets us specify the descriptor, and the lLength and address to fill in.

M macro build_descriptor(name,length,address) =
M (name( len = length;

M name t{p = 0;

M namelcls = V;

M namelptr = address;)

X

! Now we are going to define some constructs that let us do common sorts
! of operations more elegantly. They make things more meaningful and
! are also faster to write.

! Begin with two macros to increment and decrement a variable.

macro increment(variable) =
. (variable = .variable + 1)

decrement(variable) =
(variable = ,variable - 1)

! Define a macro that can check a status. If not successful, then it will
! signal the remaining arguments.

macro check(status) =
f not status then
signal (Xremaining);)
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DCLDIETY DCLD ET = Pu DCL Procedure on a Diet Se 4 AX=1 «32 v4,0-742 Page
- Module Definitions -Sep~-1 L L 3
v&k &80 e Defi 2 S - 33 ?i }g 33 utTl 2 S 3 DCLDIET.B32;1 9
}27 } S } ! Table of Contents:
orward ro
1 3 1 9 1t d rtl
160 1 s 1 ottaain novaluc.
161 1 1 dcldi.t roduco n?vo ue,
16§ 16? 1 cldiet$scrunch_Line: novalue
}24 }g } dcldﬂot!skip uhTtospoco nova[uo.
165 165 1 ! External References:
16? 166 1
16 165 1 external rogtino
};3 }2? } get_value: addressing_mode(general);
170 168 1 ! Shared Messages:
mnm 1? 1
17; P 0170 1 S$shr asgdof(dcldiot. local,
17 P O171 1 (closein, warning)
174 P 17; 1 (closeout, uarningf
175 P 0173 1 (openin, severe)
179 P 0174 1 (openout, severe),
17 P 0175 1 (readerr, error)
178 179 1 (writeerr, orror’)
179 177 1
180 173 1 ! Own Variables:
181 179 1!
}gi }g? } ! We need a set of RMS control blocks to open and read the input file.
1 18; 1 own
185 183 1 dbuffer(input_esa,nam$c_maxrss),
}0 }gg } dbuffer(input_rsa,nam$c_maxrss),
188 o 813? 1 input_nam: Snam(esa=input_esa+8,
189 P 0187 1 ess=nam$c_maxrss,
190 P 0188 1 rsazinput_rsa+8,
191 189 1 rss=nam$c” naxrss)
19; 190 1
19 P 0191 1 input_fab: $fab(dnm=".com',
194 P 19; 1 fac=get,
195 P 01935 1 nam=1nput_nam,
19? 196 1 shr=get),
19 195 1
198 199 1 input_ubf: block(1024,byte],
199 197 1
P lgg 1 input_rab: Srab(fab=input_fab,
mbe=
1 P 01 1 bc=4,
; P 1 lbf=2
P 1 1 rac=seq.
i ; 1 ubf= nsut -ubf,
8; } us2=10
0 5 } ! We need a set of RMS control blocks to create the output file.
88 1 own
}? } dbuffer(output_esa,nam$c_maxrss),
1 P 021 1 output_nam: Snam(rlf=input_nam,
esazoutput_esa
1§ & 1? 1 tput +8,
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1
1
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1
1
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ess=nam$c_maxrss),

output_fab: Sfab(foc-put.
op=0
-r2-1531
nou-output nam,
org=seq.

rat=cr,
rim=var),

output_ubf: block[1024,byte],

output_rab: Srab(fab=zoutput_fab,
mbc=64,
ubf-Z
roc-soq):
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T = Put a DCL Procedure on a Diet 1§-So -1984 02:18: AX=11 Bliss-32
TSMAIN - Hain Routine 1 -50301834 ?§:12:23 !UTIL 2.SRCIDCL
} ¥2Ettl 'DCLDIETSMAIN = Main Routine'
B Function:l Description:
& This is the main routine for the DCLDIET command. It parses the
} 5 command Line and then opens up the input file.
1 | Formal Parameters:
} ; none
1 | Returned Value:
} E none
1 | Notes:
1! none
1 !--
1
1

GLOBAL ROUTINE dcldiet$main:
local

novalue = BEGIN

status: long,
work_dsc: descriptor;

! Begin by obtaining the name of the input file and opening it.

status = lngct value(dtext('P1'),input_esa);

input_fablfabSL_Tna) = ,input_esa tri

input_fabLfab$b_fns] = ,input_esallen

status = Sopen(Tab=input_fab);

dcldiet$scrunch_Line(input_esa);

check(.status, dcldiet$_openin,i,input_esa,.status,.input_fablfabs$l_stvl);
status = Sconnoct(rabzinput_raﬁ);

check(.status, dcldiet$_openin,1,input_esa,.status,.input_rablrab$l_stv]);

! Now we can open the output file. The optional /OUTPUT qualifier will
! tell us the name of the output file.

status = cliSget_value(dtext('OUTPUT') ,output_esa);
output_fab[fa Sl_fna? = ,output_esa tr??

output_fabLfab$Sb_fns] = .output_esallenl;

status = Jcreate{fab=output_fabJ;

dcldiet$scrunch lin’(output,oso)-

check(,.status, dcldiet$_openout,!,output_esa,.status,.output_fablfab$l_stvl);
status = Sconnect(rab=output_rab):

check(.status, dcldiet$_openout,1,output_esa,.status,.output_rablrab$l_stvl);

! Call a routine to process the input command procedure and produce the output.
dcldietSreduce();

! Close the input and output files.

status = Scloso(fabsingut fab): :
check(.status, dcldiet$_closein,1,input_esa,.status,.input_fablfabsl_stvl);

status = Scloso(f:bsou;put_fab):
check(.status, dcldiet$_clOoseout,1,output_esa,.status,.output_fab[fabS$l_stvl);

vé.0
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LTITLE Q552£550QCL0157 = Put a DCL Procedure on a Diet

- IDENT

«PSECT SPLITS,NOWRT,NOEXE,?2
6D 6F 63 0000 P.AAA: .ASCII \.com\ 3
00 00 N g 886 P.AAC: LASCII \P%g: ><0> :
81 08 8 P.AAB: .LONG 17694722 :
0000000* 0000 «ADDRESS P.AAC H
00 00 54 55 50 54 &F 001§ P.AAE: LASCII \9UTP97\<0><0> 3
010E0008 0018 P.AAD: .LONG 17694726 :
00000000* 0001C +ADDRESS P.AAE :

.PSECT SOWNS ,NOEXE,2

00FF 00000 INPUT_ESA:
.WORD 55 :
00 00 00002 .BYTE 0
00000000* 00004 .ADDRESS iNPUT_ESA+8 :
LKB 255
LkB 1
ORD 55 3
.BYTE 0 :
.ADDRESS ;NPUT_RSAOB
.BLKB 5
.BLKB
INPUT _NAM:
.BYTE
.BYTE
.BYTE

.BYT
.QQDRESS INPUT_RSA+8

.B
INPUT_RSA:
.V
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INPUT_FAB:
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.WORD
-LONG

«LONG
+ADDRESS
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+ADDRESS
.BYTE
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.WORD

oL
INPUT_UBF :

.BLKB
INPUT_RAB:
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DCLDIETY DCLDIET = Put a DCL Procedure on a Diet 1§-So -1984 :18:55 AX=11 Bliss=32 v4.0-742 Page 13
V -550 DCLDIETSMAIN = Main Routine 1 -503-1935 ?i:lgzgo !UIIL 2.SRCIDCLDIET.B32;1 . (4)

g 1 F 07 CALLS aa. SYSSCONNECT ;

D DA MOVL RO, STATU ;
i - °8 BLBS  STATUS, 4 : 0273

0cC8 g 0D 000E PUSHL  OUTPUT RAB+12 :

go E4 PUSHL  STATUS :

0704 3 £6 PUSHAB OQUTPUT_ESA :

1 DD 0O0OEA PUSHL # :

000310A4 8F DD 0O0OE PUSHL tgooase :

64 5 FB 000F CALLS #S, anssgsuAL :
0000v CF g FB 8' 4$: CALLS #0, DCLDIETSREDUCE : 0277
0270 9F FA PUSHAB INPUT FAB : 0281

?7 1 F 805; CALLS #1, SYSSCLOSE :

i D 18 MOVL RO stArgs :
1 E8 00104 BLBS  STATUS, 5% : 0282

027¢ DD 018; PUSHL  INPUT FAB+12 :

00 001 PUSHL  STATUS :

00 00100 PUSHL R3 :

81 DD 0010F PUSHL # ;

00031050 8&F DD 00111 PUSHL #200784 ;

64 05 FB 00117 CALLS #5, LIBSSIGNAL ;
086C C3 9F 0011A S5%: PUSHAB OUTPUT FAB : 0283

67 91 FB 0011E CALLS  #1, SYSSCLOSE ;

sg 0 00 00121 MOVL RO, STATUS ;
1 s; E8 00124 BLBS  STATUS, 6% : 0284

0878 C3 DD 00127 PUSHL  OUTPUT FAB+12 ;

s; DD 00128 PUSHL  STATUS ;

0704 C3 OF 001§o PUSHAB OUTPUT_ESA ;

01 oD 00131 PUSHL #1 ;

00031058 8F DD 00133 PUSHL cgoo792 ;

64 05 FB 00139 CALLS #5, LIBSSIGNAL ;
04 0013C 6% RET ; 0287

; Routine Size: 317 bytes, Routine Base: S$CODES + 0000




EROTay

work_dsc: descriptor,
contTnuation_Line: boolean,
within_deck: boolean,
dcl_command: boolean;

! We will reduce the command procedure by reading each Line, processing it,
! and perhaps writing a new Line into the output file.

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
%
g
§ continuation_Line = within_deck = false;

while true do (

D 7
DCLDIET CLDIET = Put a DCL Procedure on a Diet 16=Sep=1984 (2:18:55 AX=11 Bliss=32 V4.0-742 P 4
VOG-ASO CLOIETSREDUCE = Reduce a Command Procedure 12-503-1934 ?5:5?:30 UTIL;Z.SRC DCLDIET.B32;1 b (;)

g § §2Ettl 'DCLDIETSREDUCE = Reduce a Command Procedure’
94 i Functional Description:
95 @ ! his procedure is responsible for reducing the size of a command
96 9 ! rocedure by eliminating comments and compressing any whitespace.
3; 3 5 e read the entire input file and generate a new output file.
99 9 i Formal Parameters:
8? 3 5 none
0 G i Returned Value:
8‘ 8 ; none
82 8 g Notes:
07 30 fem .
09 30

gg GLOBAL ROUTINE dcldiet$reduce : novalue = BEGIN

30 local

30 status: long,

3} line_dsc: descriptor,

1

1

1

1

1

1

1

1

2

g
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5 ! Begin by getting the next Line. We're done on end-of=file.
2 status = $get(rab=input_rab);
3 g if .status eqlu rms$_eof then exitloop;
g check(.status, dcldiet$_readerr,1,input_esa,.status,.input_rablrab$l_stv]);
3 ; ! Set up the output RAB for writing the Line. Also set up a working
5? 1 ! descriptor in case the Line must be modified.
i output_rabErabSu_rsz} s .1nput-rabErab$u_rsz 3
38 4 outfut rablrab$l_rbf) = .ingut_rab rab$l _rbfl;
33 5 build_descriptorTwork_dsc,.input_rablrabSw_rsz],.input_rablrabsl_rbfl);
1 ? ! Update the work descriptor to skip initial whitespace.
42 ‘5 dcldiet$skip_whitespace(work_dsc);
5 41 ! Now we have to determine whether this is a DCL commmand line
g ; ! or a data line.
48 Li dcl_command =
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ut a DCL Procedure on a Diet
UCE = Reduce a Command Procedure

o9

-Sep=-1984 AX=11 Blis -32 0 742
I R SR,
é;:nnot .within_deck and .work_dscllen] gtru 0

(ch$rchar(.work_dsclptr]) eqlu 'S')
else

fals*)
or .continuation_Line;

t's a DCL command Line, we have to scrunch it. Skip to the
ning of the verb, cal( the scrunching routine, and then put
a dollar sign if necessary.

s
e

bogk
if .dcl ﬁonnand then (

f not .continuation_Line then (
decrement (work dscilen ):

" increment (work _dsclptrl);
dEldiothkip uhittspaco(uork dsc)
?gldiottscrunch ine( wor dsc);

n

incronont(uork dsc len
decronont(uork dsclptr

.continuation_ Ehon
chSwchar('$', .work dsciptrl)

¥

! Now we want to write the Line into the output file. Don't bother
! if it's a DCL command Line with only a dollar sign.

if .work_dsc(len) ?tru 1 or
.contTnuation_
not .dcl_command then (
f Tdcl_command then (
“output_rab rabsu rsz] = .work_dsc lcng
output_rablrab$L_rbf) = .work_dsclptr

status = $Sput(rab=output_rab);
) check(.status, dcldiet$ uritterr 1,output_esa,.status,.output_rablrab$l_stv]);

! Next we doternino the state of our two control flags.
i The continuation flag is set if we just processed a DCL command
! line and it has a hyphen at the end.

continuation_Line =
thf ~dcl_command
en
(ch$rchar(.work_dsclptrl¢.work_dsc(len)=1) eqlu '~")
glso false

! The setting of the deck fla? depends u on whether or not we just

| processed a DCL coaoand. so, the flag is set if we had a DECK

i command. lf not, the flag is left alone unless we had an EOD command
! while in a deck, in which case it is reset,

if .dcl_command then
“within_deck = .work_dsc(len) eqlu 5 and
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DCLDIET = Put a DCL Procedure on a Diet 1 -Sep-1 AX=11 Bliss=32 v4.0-742 Page 1
DCLDIETSREDUCE = Reduce a Command Procedure s.5-133£ ?i }g 33 UTIL32.SRCIDCLDIET.B32;1 . (S?
4 i ch$rchar(.work _dsclptr eqlu '$' and
4 (chSrchar( work _dsclptr 01) and Ix'df') eqlu ‘D' and
404 (ch$rchar(.work_dsclptr 4;) and Ix'df’') eqlu 'E' and
405 (ch$rchar(.work_dsclptr]+3) and Xx'df') eqlu 'C' and
4 ? (ch$rchar(.work_dsclptrl+4) and XIx'df') eqlu 'K’
& else if .within_deck then
408 & if ch$rchar(.work dsclptrl) eqlu '$' then (
409 & decrement Twork _dscllen));
610 & 1ncroncnt(uork dsclptrl);
611 & dcldiet$ski p wﬁ spaco(work dsc);
k\i [ f .work_dscl on e
841 4 (ch$rchar(.work_ sc ptr ) and Xx'df') eqlu 'E' and
L4 & (ch$rchar(.work_dsclptr]+1) and Xx'df') eqlu '0' and
0415 & (chSrchar( work dsclptrl+2) and Xx'df') eqlu 'D' then
041? 4 within_deck = false;
0461 4
0418 3 ):
0419 )3
0420
0421 re turn.
0422 1 END
.EXTRN SYSSGET, SYSSPUT
OFFC 00000 .ENTRY 88L£%8T$¥$DUCE Save R2,R3.R4,R5,R6,R7,R8,- ; 0306
58 0000V CF 9E oooo; MOVAB moxefssmp WHITESPACE, R11 :
SA 000000006 00 9E 0000 MOVAB LIBSSIGNAL, R10 :
§9 0000' CF 95 oooog MOVAB  INPUT m+34 R9 ;
SE 10 C2 0001 SuBL2 #16, SP 3
54 94 00016 CLRB WITHIN D : 0320
53 94 00018 CLRB CONTIN UATION _LINE :
DE A9 9F 0001A 18%: PUSHAB INPUT s 0326
000000006 00 01 FfB 00010 CALLS SYSSGET 3
55 S0 DO 00024 MOVL STAT :
0001827A  BF 55 D1 800 7 CMPL STATUS. 098938 : 0327
01 12 000 8 BNEQ 2% 3
04 000 RET 3
14 55 E8 00031 2%: BLBS STATUS ; 0328
EA A9 DD 00 PUSHL  INPUT ﬁAan ;
55 DD 00037 PUSHL STATUS :
FO1E 9 9F 8 9 PUSHAB INPUT _ESA :
1 0D 0003D PUSHL 3
00031082 F DD 800 F PUSHL i :
6A 5 F 045 CALLS # LIBQSI NAL 3
8sr 9 69 B 8:.0 3$: MOVW  INPUT_RAB+34, OUTPUT_RAB+34 : og 3
60 C9 06 A9 g kg MOVL INPUT _ RAB*60 OUTPUT RAB+40 : 0334
6E 69 C MOVZMWL INPUT RAB*S‘ WORK DSC : 0335
04 AF 06 A9 DO 6 MOVL INPUT RAB*&O WORK DSC*& :
E DD B PUSHL : 0339
68 F D CALLS DCLDIETSSKIP_WHITESPACE :
1 & ¢ 6 BLBS uxfum DECK, 4 : 0345
£ ? 6 TSTW  WORK_DSC :
8 6 BEQL % 3
D& 0006 CLRL RO : 0347

R—————
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18%:

19%:

208:

21%:

1ok 182338 MOTILAuendholt

WORK DSC*G RO
1(ngt

#-224

R0, w68

193

R1

R,

R

uokx DSC*A RO
z«agr

#-2
R
18§
R
R1, R

R8, R

WORK DSC+4, RO
3(ROY, RO
#-224. RO

R1
RO, #67
19§

R1

R2, R7

R7. R1
WORK_DSC+4, RO
4(ROY, RO
‘-2 ‘o Ro

3 475
20§
R

R1, Rg
R8, R2, WITHIN_DECK
22§

WITHIN DECK, 22%
gggkl DSCe4, #36

WORK_DSC
WORK“DSC+4
i
ugﬁx

augnx DSS*‘ RO
39 *¢

WORK DSC*‘ RO
I(RgT.

#-224, R
R ‘ 9

2
WORK DSC" RO
2(ROT,

"e9

DCLDIEY;SKIP WHITESPACE
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: Routine Size:

DCLDIET = Put a DCL Procedure on a Diet 1% Sep=19 AX=1 iss~ 4.0-74
DCLDIETSR ED&CE = Reduce a gonuand Procedure 1 5:3-198‘ ?i lg 28 UTIL zaénc DEED¥51033221 P (;?
0 FFFFFF20 1 ICL2  #=224, RO :
00000044 3 }Eg E::k gg:m :
18 CLRB u;tnm_oecx ;041
FE A 158 228: BRW 1 : §35§
2 RET : 04

513 bytes, Routine Base: SCODES + 013D

Mac
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DCLDIEY DCLDIET = Put a DCL Procedure on a Diet 1%-50 -1984 02:18: AX=11 Bliss=32 v4.0-742 Pa 0 ooy
vSk DCLDIETSSCRUNCH_LINE = Remove Comments and Sque 1 -503-1334 ?i:%g:fg UTIL32.SRCIDCLDIET.B32;1 w (i)
. : 3 2 } ?:gttl 'DCLDIETSSCRUNCH_LINE = Remove Comments and Squeeze Whitespace'
: 430 3 13 Function’l Description:
: &N ? 1! This procedure is called to scrunch a Line in the command procedure.
: & ; 1! It removes any comments from the Line. l‘ also squeezes any
: : 4 8 } E whitespace down to a single blank. Trailing whitespace is eliminated.
: &35 430 1 ! Formal Parameters:
s & «31 1! line_dsc Descriptor of Line. Hino is scrunched by rearranging
3 : 3 ; } 2 Lline buffer and updating descriptor.
: &3%9 4 1 ! Returned Value:
;&40 > 33 none
Y 4 ? 1!
;&4 1 ! Notes:
44 438 1! none
;s G446 439 1 ==
B 2 3
;&4 044§ 1 GLOBAL ROUTINE dcldiet$scrunch_Line(line_dsc: ref descriptor)
: G48 044 : novalue = BEGIN
;. 649 44
; 450 645 local
;. &N k? scan_dsc: descriptor,
3 AS; 4 char: byte;
: &S 48
; 454 49
; 455 450 ! 1f the Line is null, forget it.
: 659 0451
: &5 65§ if .line_dscllen] eqlu 0 then
3 :gg g‘ return;
;. 460 8255 ! Begin by cop;ing the Line descriptor so we can scan the Line. Then reset
3 ! the Length of the descriptor to zero so we can rebu the Line.

281 ‘g ! the | h d i build the Li
: 46 8658 build_de cristor(scan_dsc..linn_dsc[lcn]..lino-dsc[ptr]):
3 :gg 8223 Lline_dscllen] = 0;
;& 0461 ! Now we will sit in a Loop in order to find the first quotation mark
: &6 06éi ! or exclamation point in the Line. As we go, we'll compress any whitespace
3 :63 62‘ ! down to a single blank.
: 470 65 while .scan_dsc(len) gtru 0 do (
: &N &gg chaf = ch$rchar(.scan dsclptrl);
: &7 if .char eqlu ' or .char eqlu '!" then exitloop;
: &7 68 ecrement (scan_dsc lon;);
: 474 99 ncrement (scan dgc ptrl);
: 475 0 4 f .char oalu Y ' or .char eqlf HT then (
: &7 71 & chSwuchar(' ',.line_dsclptrl+.line_dsc(lenl);
: :;8 ;i 4 : ot dcldiet$Sskip_whitespace(scan_dsc);
3 else
: 479 74 ch$uchar(.char,.line_dsclptrl+.line_dscllen]);
: & 75 increment(line_dsc Llend);
: : 1 ;9 T
3 :gg 6;8 ! It we found a quotation mark, we have some more work to do.

e ey ity S —




LR LR L N T T T R A R s I R s I I’ ™™™ LA LR PR TR TR PR TR DR TR TR TR TR TR
lei=l=lelelelele]

WVIVI WAV T TN VIIAWA VIV

— e e e e e e e e
VONO VS W —=O

—_—————— e - e

K 7

DCLDIET = Put a DCL Procedure on a Diet 16=-Sep=-1984 02:18: AX=11 Bliss=32 v O 42 Pa 1
DCLDIETSSCRUNCN JLINE = Remove Comments and Sque 1 508-1836 ?;;}2;33 UTIL32.SRC DCLD .B32;:1 o (i)
2 ? if .char eqlu ''"" then (

4 § ! We hav’ to bo coroful with the rest of the ino. because the

4 : quotation rules in DCL are haphazard. og n by moving down

2 g ! the rest of the Line so it's adjacent to the part we conprcssed

4 chSmove(,scan dsc[ enl,.s sclptrl, .line_dsclptrl+.line_dscllenl);

289 Li dsctlan z ,line dsc long ?scan dsc[lons ’

488 : there is an exclamation Eoint at thc end of the Line, not

then it's a comment.

ne
L 4 |
followed by a quotation mar
can_dsclptr] = .lino dsctptr] 0 linc scllen) = 1;
i .scan dsclptrl) 8 f L no dsc ptr and
h$rchar(.scan ptr g
if hSrchar(.scan dsstpt ) eqlu "'

She (
Lline_dsclTen .scan_dsclptr] = .line_dsclptrl;

OO0
F P I 99
0000000
VW —O
PIRIAN m.\maam»mwm

238 exitToop;

499 decrement(scan_dsclptrl);

0500 );

8 £

050§ ! If, after all that work, we ended up with trailing whitespace, then
8?8& i get rid of it.

0506 scan dsclptr] = .line_dsclptr) + .line_dscllen] - 1;

0507 while .scan dsc[ptrJ geqa .line dsc[ptr and

0508 ch$rchar(.scan_dsclptr] eqlu * ' or chSrchar(.scan_dsclptrl]) eqlu HT) do (
0509 decrement (Line _dsc lena
0510 decrement(scan_dsclptrl);
0511 ):
051;
051 return;
0514 1 END;

00FC 00000 .ENTRY ggLDlETSSCRUNCH_LlNE. Save R2,R3,R4,RS,R6,~ ; 0442
SE 08 €2 0000 SUBL2 #8, SP ;
56 06 AC 00 000 MOVL  LINE_DSC, Ré P 0452
66 BS 00009 ST (R6) :
01 1 ogoa BNEQ 1% ;
& 00000 RET ;
2; 66 3C 8°$ 13 MOVZWL (R6), SCAN_DSC : 0458
04 A9 1 MOV 4(R6J, R7 ~ ;
04 AE 67 D 13 MOVL (R7), "SCAN_DSC+4 ;
66 B 1 CLRY  (Ré) 1 0459
ge ? 18 2% TSTW  SCAN_DSC : 0465
C 10 BEQL 6% F
;g 04 3 1 MOVB asCAu_ogcoa CHAR : 04
CMPB  CHAR, #34 ;046
1 BEQL 63 3
P3| 9 CMPB  CHAR, #33 ;




DCLDIETY DCLDIET = Put a DCL Procedure on a Diet 1k-s
v&k-&So DCLDIETSSCRUNCH_LINE - Remove Comments and Sque 14-S
E 028
w G 81 08
. i 1l
09 9
1 ;2 A
gg 6? C 3s:
s 03F
. 2 95 00048
Vv f 4
0000V CF ; ¢ GZ
50 6; 3C OO04LE 4%:
50 67 CO 00051
60 52 90 00054
66 B6 00057 5%:
0o 1 0859
22 g; 91 00058 6%:
12 0005
50 66 3C 0006
50 67 SO 0006
60 04 BE 6E 28 00066
66 6E A0 00068
50 66 3C 0006E
50 67 CO 00071
04 A; FF A0 9E 00074
6 046 AE D1 00079 7%:
18 1F 00070
22 04 BS 91 0007F
1 13 00083
" 04 85 33 80083
S st o g
04 AS D7 0009; 8%:
E2 11 8009
50 66 3C 00097 9%:
50 67 CO C009A
046 A FF  AO 9§ 0093
6 04 ? ?' 80: 108%:
20 04 g ?% 08:%
09 04 8; i 88A
1; 088
04 26 37 00 118:
E7 1 8033
04 000BB 12%:

; Routine Size: 188 bytes,

Routine Base:

$CODES + 033E

4 02:18:55 AX=11 Bliss=32 V&, 0742
1334 ?5:32:30 UTIL32.SRCIDCLDIET.B32:1

BEAL 6%

DECW  SCAN_DSC

INCL scnn_os§+4

CMPB SNAR. #32

BEQL $

CMPB  CHAR, #9

BNEQ 48

MOVZWL (R6), RO

ADDL2  (R7). RO

MOVE  #32,° (RO)

PUSHL SP

CALLS  #1, DCLDIETSSKIP_WHITESPACE

BRB 58

MOVZWL (ng). RO

ADDL2  (R7). RO

MOVE  CHAR. (RO)

INCW  (R6)

BRB 28

CMPB  CHAR, #34

BNEQ 9%

MOVZWL (R6), RO

ADDL (R7). RO

MOVC3  SCAN_DSC, @SCAN_DSC+4, (RO)

ADDW2  SCANTDSC. (R6)

MOVZWL (R6)7 RO

ADDL2  (R7). RO

MOVAB =1(R0), SCAN DSC+4

CMPL  SCAN_DSC+4, TR7)

BLSSU 9%

CMPB  @SCAN_DSC+4, #34

BEQL 9%

CMPB  @SCAN_DSC+4, #33

BNEQ 8%

SUBW3  (R7), SCAN_DSC+4, (R6)

BRB 9%

DECL ;cAu_osc+4

BRB $

MOVZWL (R6), RO

ADDL2  (R7). RO

MOVAB =1(RO), SCAN DSC+4

CMPL  SCAN_DSC+4, TR7)

BLSSU 128

CMPB  @SCAN_DSC+4, #32

BEQL 118

CMPB aSCAn_bsco&. 9

BNEQ 128

DECW  (R6)

DECL  SCAN_DSC+4

BRB 108

RET

o
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; Routine Size:

.

n7
DCLDIET - Put a DCL Procedure on a Diet 16=Sep=1984 02:18: AX=11 Bliss=32 v4.0-742
DCLDIETSSKIP_WHITESPACE - Skip Hh?tospaco in a 12-803-183& ?i,}?,gg !UTIL 2.SRCJDCLDIET.B32;1
}S } §§2ttl 'DCLOIETSSKIP_WHITESPACE = Skip Whitespace in a Line’
1? 1 ! Functional Description:
13 1 1 his procedure is called to skir past the whitespace in a line.
§10 } ; Whitespace is any sequence of blanks or tabs.
5¢1 1 ! Formal Parameters:
S § 1! line_dsc Descriptor of line. Initial whitespace is skipped
g ? } ; by updating descriptor.
0525 1 ! Returned Value:
85 9 1! none
S 1!
0528 1 ! Notes:
05¢9 1! none
0530 1 !==
0531 1
osgg 1
05 1 GLOBAL ROUTINE dcldiet$skip_whitespace(line_dsc: ref descriptor)
0534 : novalue = BEGIN
0535
0536
0537 while .line_dscllen] gtru 0 and
0538 (ch$rchar(.line_dsclptrl) eqlu '_' or chSrchar(.line_dsclptrl) eqlu HT) do (
0539 decrement(line_dscllen]));
0540 increment(line_dsclptrl);
0541 5 '3
054;
0543 2 return;
0544 1 END;
0000 00000 ENTRY DCLDIETSSKIP_WHITESPACE, Save nothing
50 06 AC DO 00002 MOVL LINE_DSC, RO
63 Bg 0006 1$: TSTW (RO)
13 13 00008 BEQL 3s
20 06 80 91 0000A CMPB a4 (RO), #32
06 13 0008 BEQL 2$
09 06 80 91 0001 CMPB a84(RO), #9
07 1; 0014 BNEQ 3$
60 B 8818 2% DECW (RO)
06 AQ D6 1 INCL 4&(RO)
E9 11 00018 BRB 1%
04 00010 3% RET
30 bytes, Routine Base: $CODES + O3FA

0545 1
0546 0 END ELUDOM

o 3

B



#y
D LD&SB DCLDIEY = Put a DCL Procedure on ’ Diet
V04~ DCLDIETSSKIP_WHITESPACE = Skip Whitespace in a
: PSECT SUMMARY
g Name Bytes Attributes
: SOWNS 335 NOVEC, WRT, RD ,NOEXE,NOSHR,
: SPLITS NOVEC ,NOWRT, RD ,NOE!E NOSHR,
: SCODES 1048 NOVEC,NOWRT, RD , EXE,NOSHR,
: Library Statistics
§ o s e e R e T R Syshols eseecccss
: File Total Loaded Percent
:  _$2558DUA28:[SYSLIBISTARLET.L32;1 9776 61 0

e 00 80V Be R n,

BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE)/LIS=LISS:DCLDIET/0BJ=0BJS:DCLDIET MSRCS:DCLDIET/UPDATE=(ENHS:DCLDIET)

Size:

Run Time:
Elapsed Time:
Lines/CPU Min:

COMMAND QUALIFIERS

1048 code + 3360 data bytes
00:23.9
00:66.5
1370

Lexemes/CPU-Min: 32610

nenorl Used:
Compila

183 pages

tion Complete

1E-se-1a8s 0g:10:53

EXTRN LIBSSIGNAL

e
- s s
DD
mmm
e
- s s

reeer
alnlsl

Pages
Mapped

581

AX=11 BLisg=32 Vé.0-74
OTILs2 2 sReocto i Bssa

Processing
Time

00:01.1

R—

o 8

Voi






